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Begin by graphing each quadratic equation below:

8.1 Graphing Transformations

a s (x+4;p—_1 b) y=—2(x—1)* -1 ) y = =3(x+4) +5
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Vertex: (—"\' "n Vertex: (" -\ Vertex: C—lf’ 5)

Max/min value: = \ Max/min value: == \ Max/min value: 5

Domain: ("‘00,00) Domain: (-w' 60) Domain: C-IO, 47)

Range: E\' m\ Range: (— ] Range: C—ﬂ, 5)
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' Yocizmial shikt leckion oder X-axXis leghot o™ X—aX
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_ 1 Hocizenta\ shift h+.1. Horizonta! shif u-Pf 4

Yechead shift dawn Nerkical shidt Nerbical shft vp 5

Each of the above equations is in XK form. This form is the most convenient form to graph from

since you can easily pick out the starting point of the graph, aka the vertex.

Turns out that any kind of equation (linear, quadratic, absolute value, square root, etc. ) can be written in this

kind of format where it gives you the starting point of your graph. We call it MMM\ form.

A transformation is a description of how the graph has changed from the parent graph. Recall that the parent
graph of a quadraticis y = x2 (shown below). In transformational form, we can see how an equation
has changed (aka transformed) from the parent graph.

& y=a(x—h)*+k
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Absolute Value Equations

What does an absolute value function do? Mﬂ-\‘bs LW\!‘\MM\AJ l‘wﬁ("\"l Ve

Let’s see what that looks like on a graph:

y=x y = |x| Parent Graph of y = |x]|

_u_ | A [ Nerckex at (0,0)
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Here is what an absolute value equation looks like in transformational form:

y=alx—h|+k
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1) Identify each parent graph and any transformations associated with each equation.

a.y =4|x|+5 \ \ b-)’=-§(x—7)2
’Pol*-l\“'.- Y: X ?NU\"’. ._',(1.
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Vertied shift vp 5 Jertical compression of 'ZS“

Worizental shit ﬁ5‘\+ -7

2) Write the equation based-on the transformations.
a. Parent functiofi: y = |xy \ b. Parent functiod;y = x% / \
Reflection over =axis - = Vertical stretch of (A= -
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. 3) Graph each equation below:

aj y =2 +4] =2 b) y=>lx—1/—4
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Vertex: (’H,"LB
Max/min value: ~ Z2_
Domain: C—&di (%73
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4) Write the equation each graph
a. 4y

Vertex: ([’ -H)

Max/min value: -y
Domain: (“MIM)
Range: E—H,m)

Transformations
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in transformational form.
b.
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c)y=-3lx—2|+1
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Vertex: (1_' |)

Max/min value: |

Domain: (—m’ m)

Range: (~&¥, l}

Transformations

}&\Lvh‘m Vel ¥-oxis
ertical shekch by fakr of 3
orizondal shik r35k+ 2

Verhal it vp &




